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@ 0.27x43 =0.1161
@27 x 4.3 =116.1

O 2.7x0.43 =11.61
® 27x0.43 =1.161

® 0.027 x 43 = 0.1161
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D 2.7x0.43 = 1.161
@ 0.27 x 43 = 11.61
® 27x0.43 =11.61
® 0.027 x 43 = 1.161
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1.973 x 100 = 197.3
1973 x 0.01 = 19.73 = 197.3 > 19.73
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D 48.08+8 @ 2.85+3 @72.8 +14
@ 162+6 ® 72.8+8
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@ 48.08 + 8 = 6.01
@ 2.85+3 =095
® 72.8+14=52
@ 1.62+6=0.27
®728+8=09.1
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® (9.6+1.2)+24
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Sa4 24 A 9.6 - 1.2 = 8.4(kg)
a5 199 B 8.4+ 24 = 0.35(kg)
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» E. ha

> ®EHD 12000 ha

15 x 8 = 120( km?) = 12000 ha
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371 | 48219

Chn 39752
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> Me 3598270
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T o] 71 260 714 6807474t o] B2

7o) & M= 260 x 680 = 176800(70) Ut
g o|7t T o] 4=

176800 — (48219 + 39752 + 52847) = 35982(7N)




